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Answer the following question in the space provided. There is
:inswers. This quiz is rvolth 5 points.
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lru Iou' Ir^ 'l;d,zd,rd.y.
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Answer the following question in the spacc provided. There is no need to justify your
ilnswers. This quiz is rvcirth 5 points.

where R: {(r,y1:12 +U2 S
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the i,ntesral II^f* + a\ a.q. in pol,ar coord,,inates
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lArrswer the Ibllorving question in the sPacr: lrrovided. There is no need to justify yorir
answers. This quiz is u.olth 5 points.

l

l

Eual'uate the i'ntegrul [[-r"rdA in polar coord,,inates whereR: t(",d):0 < r < 3,0 <
tt < rl2j. (HinL: Rrrrr,,ltlrl llre d,oul,lc u?tttlc.l,,rnuLa2sin(r)cos(.2) : sin(2r).)
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